20195 E KFHRI=7Hvh—)—45 %HEBAFE N.2

A B B FA X B F — L = 3 = 5
18:00 EILRYIR X S—4-0=7 V=Bl FCYZT

78278 | 19:00 EMU=7FC_ x  urbapFoy? | waswrz | ST
20:00 KEL=F7FC X FCIHU# EMS=7FC
18:00 KFFC X V=LA FCYZT FCITU&H

8A3H 19:00 HE—H-2=7 X FCITY& KFFC (i'ffé‘)
20:00 RFFE+#FC X EILRYHR S—H-0=7
18:00 M-CLUB X Brm+#FC KFFC

8A178 | 19:0 KEFC  x  LAvHR gme=7rc | 38
20:00 HE—H-2=7 X EM=7FC ZILRYIR
18:00 ZM=7FC X KEY=F7FC HhI—Y-2=7

8A248 | 1900 KFFC_ x  p—y-v=7 | sme=rrc | ST
20:00 W=bEhFCY=T X FCIHU®H KFFC
18:00 FCIHY&% x EILRYHYR KFE=FFC

8A31H 19:00 KFEL=FFC X RTME+#¥FC V=i hFCY=T (‘i'ffé‘)
20:00 W=bEhFCY=T X M-CLUB BRFFmE+#FC
18:00 RFFE+#FC X hI—H-2=7 EZILRYIRX

9A7H 19:00 M-CLUB X  wILRYIR HhEI—Y-> =7 (‘i’ffé‘)
20:00 KFFC x  %MY=FFC M-CLUB
18:00 TILRYIR X Wb MhFCYZ7 | AS—H-2=7

10R128| 1800 | ps—¥-o=7  x  kFv=7Fc | vksuarorr | 3L
20:00 ZM=7FC X FCIHU®H KFEY=7FC
18:00 Rro+#FC X ZM=7FC KFEL=FFC

10A198 | 19:00 EIAYYR x  KFY=FFC RTM+#FC (i'ffé‘)
20:00 M-CLUB x KFFC TILRYHYR
18:00 M-CLUB x hI—H. =7 FCIHY&%

11828 | 19:00 RFFM@+#FC X FCIHU®H M-CLUB (i’flyé‘)
20:00 TILRYIR X ZMP=FFC Rro+#FC
18:00 KFFC X FCIHY® Rr+#FC

11A98 | 19:00 RIF@+#FC  x  UEBAHNFCYZT FCITYU% (i’rfé‘)
20:00 M-CLUB X KFEL=FFC U F=biEhFCY=7
18:00 U I=bEhFCY=7 X KFEY=FFC FCITU&

11168 | 19:00 FCIHY & X M-CLUB KFFC (i’rfé‘)
20:00 BFmE+#FC x  JKPFFC M-CLUB
18:00 KFEFC x  KFYZFFC M-CLUB

114308 [ 1900 M-CLUB  x  EMI=FFC KxFv=7rc_ | 3T
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